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T N 5 T SBREMELEHEY, 126 BYRE 562nm S FRHERIE, #HMmitESE
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=\ AFIEE» SEHI:
=R A% REFEX £F
BEGE | R 60mLx1 M | 4°C{R7F
HF— | B 26mLx1 i | 4°CRTEF

RETRLTRE EMEENRE, 8%

T — 7 2 4°C
L LR BT | g Lol HE R RS .
RA= AR 2mLx1 4°CIRTE

Il A & A 357 = #% %% 50 £Z(BPEX 10pL &9
oS WK ImLx1 % 4°CIRTE | #ERZE EP &, BN 490uL HIIXFI =),
1% Ak 2pug/mL BT SEFRE M
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1. HARGIE:
D BRREAR:
B2y 0.1g HA, fIAN ImL ZBUR, #HITKESHK, 4°Cx12000rpm Bi(» Smin, B EE, &K E
=N
R &miEsRE, TRBAARKE (o) « REVRFRML)K 1: 5~10 B HIHETIRER.
2 YHE/MBMEA:
FRERFRABEEOER, BOBEFLE B 500 HAFSAEMEMA 1mL
REUE, @R EHRAESKAE (K8, ThE 200W, 7 3s, (8§ 10s, EE 30 K) ; 12000rpm 4°C
B0 10min, B L, BKEFN.
GE - SEmEss, TRBEE/MBEE (100  BEGRML)A 500~1000: 1 HLLGI#TIZEL.
@ BEHA: BENRETEERN, ZERUNE R EEREN,
2y EHLAET .
@ TR HAETTFH 30min, BERKKE 562nm, EIBKIAE,
@ FrERFBAZER, 7 EP BHMRKIMA:
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B (W) A= (@?—i) (éﬁf—i)
=V 240
RS 240
718K 240
I — 520 520 520
HH = 40 40 40

ZHMRY, BZE 15min f5, ZFHENE 3000rpm B> Smin
RS LEERE ImL FIFLLEM (2 lom) F, FEK
562nm AMEERE BIRLE A,

E] : 1 & ANEEKRT 0.8, THEBEKMHEAR LHRHITHER, BREHD RNTEAR.
2. B AME-ASEMEEIET 0.01, AIHEMEEAEERET V2 (A8 240uL #E 340uL HEZ,

MIKFI—HERLD) , FREEMZAERFAE, WKTER V2 WHEALNRERITHE.
. BRITE:
1, ZRELAREITHE:
A8 (ng/g)=(C FRAEXVDX(A JTE-A ZH)+(A FA-A 2 0)+(V2-VxW)xD
=2x(A WE-A =B)(A FRAE-A =H) ~WxD

& 8 (nmol/g)= (C #RAEXV (A WE-A =B )HA FfE-A EH)(V2+V>W) x10*+MrxD

=35.81x(A WE-A EE)HA #fE-A =H) ~WxD
2, RMBEEITE:
A B (ng/10 cel)=(C FRAEXVI)X(A E-A = H)+(A FE-A ZA)H(V2-V<AIEE) D

=2x(A WE-A ZA)(A FE-A Z=0) ~HREED
T %2 8 (nmol/10* cel)=(C FRAEXVI)*(A JTE-A Z=E)+(A FRAE-A TA)(V2- V>4
4 E8) x10°+MrxD
=35.81x(A WE-A ZE)(A TRE-A =H) ~AEEE-D

3. BEBREERITE:
Tk 2 B (ng/mL)=(C X V(A UE-A ZE)(A FrAE-A EH)+-V2xD

=2x(A WE-A =B)+(A TRAE-A EB)<D
A & (umol/L)=(C #EXVI) (A UE-A = H)+(A RE-A EH)+V2x10%MrxD

=35.81x(A JUE-A =B)~(A FrAE-A =H)*D

CArAE-—-kArmiRE, 2ugmL;  VI--IIASREREIR, 0.24mL;

V2 IIAREAMATR, 0.24mL; V---RBURARR, 1mL;
W--HABHRE, g D--HBfEH, KBRAA 1
Mr---T$k 5> F &, 55.847; HRABEE---E BN 500 TTHE 500 RAARITE.
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